
≔δtræ 19 mmmmmmmm

≔δal 4 mmmmmmmm

AL består af 1m^2 plader

≔Aal 1 mmmm2

≔αal.udven 15 ―――
WWWW

⋅mmmm2 KKKK

≔αtræ.indven 25 ―――
WWWW

⋅mmmm2 KKKK

≔λal 250 ――
WWWW

⋅mmmm KKKK

≔λtræ 0.15 ――
WWWW

⋅mmmm KKKK

≔λisolation 0.04 ――
WWWW

⋅mmmm KKKK

≔tfl1 253.15 KKKK

≔tfl2 298.15 KKKK

≔t4 296.15 KKKK

＝＝Φkonvek.invendig Φledning Φkonvek.udvendig

＝Φkonvek.udvendig ⋅⋅αudv A ⎛⎝ −t4 tfl2⎞⎠

≔Φkonvek.udvendig =⋅⋅αal.udven Aal ⎛⎝ −tfl2 t4⎞⎠ 30 WWWW

＝Φ ⋅⋅U A ⎛⎝ −tfl2 tfl1⎞⎠ ＝―――――
Φ

⋅A ⎛⎝ −tfl2 tfl1⎞⎠
U

≔U =―――――
Φkonvek.udvendig

⋅Aal
⎛⎝ −tfl2 tfl1⎞⎠

0.667 ―――
WWWW

⋅mmmm2 KKKK



＝Uvarm ―――――
1

++―
1

α1

∑―
δ

λ
―
1

α2

≔δisolation 1 mmmmmmmm

＝U ――――――――――――――
1

++++――――
1

αtræ.indven

―
δal

λal
――
δtræ

λtræ
―――
δisolation

λisolation
―――

1

αal.udven

≔δisolation FindFindFindFind ⎛⎝δisolation⎞⎠

=δisolation 50.666 mmmmmmmm

≔U ＝――――――――――――――
1

++++――――
1

αtræ.indven

―
δal

λal
――
δtræ

λtræ
―――
δisolation

λisolation
―――

1

αal.udven

50.636 mmmmmmmm

This is ter right resolt, but 
how do I get matcad to 
solve this???????
I gave up after 3 hours 
using solveblok and finde
()....

Everything is knowen above, 
eksept  δisolation. On my 



eksept  On my 
calculatur, this is so easy, so 
way can't I get this right.


